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JnCadd, plus)—=#F0(sum)

A, (subtract)— 2= (difference)

3% (multiply, times)—fR (product)
% (divide) 7§ (quotient)

5l : The sum of the numbers x, 3x — y and 2y -+ 4 is subtracted from 15. In
terms of x and y, what is the result?

(A) 11 —4xr—3y (B)11—4xr—y

(C) 11+ 22— 3y (D) 19— 4r—y

(E) 19+ 22— 3y

¥ . “Ais subtracted from B”iX—& WLFRIARKRM B g% A, #OEE B,

4. If 13 is added to 2 more than onc-half of a certain number, the result is 37.
What is the original number?

(A) 24 (B) 40 (C) 44 (D) 61

(E) 80

7. “add”F“add to" B A M EHNEE B add X2 L EEAE M add o
2 EEEHEANES. tLin“] add 2 minus 3”FKR41+2—3", 1“1 is added to 2

minus 3”ER“14(2—3)7, Eit,KTH 13+ (% +2): 37— — 44. i C.

% . If a number x is increased by 2 and the result is squared, the final value
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will be 49. Which of the following could be the value of x?

(A) —9 (B —7 (C) =5 (D) —3

(E) —1

$3#F. “Ais increased /decreased by B"# R A /R T B, B— M AS 5>
RERIFRIARZA is increased /decreased to B” AN/ @/ E B, AFIIEX 4.

“Ais squared” 23 A EHNEE . EMNMEIFRIEE “square A”, “the square of
A%, BB ERKNE (+ 2% =49, WAFS. MIAETE «+2 4
T BUERE Al

). 1If 8+ x is 4 more than 16, what is the value of 21?7

ST “A more /less than B"RxtE B % /.0 A, #1828 8+xr=16+4, r =24,

. If multiplying £ by 7 gives the same result as squaring £, which of the

following must be true?

(A) 7T+ KR (B K2+ k=17
(O R +Tk=1 (D) 7k =1
(E) 7k = k?

SH: “multiply A by BRIAABRUAZ—MHENMARERZ“A is
multiplied by B”, #3%&#F E.

#2218

1. 1f 5 times ¢ is decreased by 8, which of the following represents the result?
(A)8—5¢ (B)5:—8 (C©5:—8) (D) 5(8—1)
(E) 8(+—5)

2. 1f 6 times j is 1 more than the square of £, where % is an integer, what is the
smallest possible value of ;7

(A) —5 (B) 7% (G0 (D %

(E) It cannot be determined form the information given.

3. A number is added to 9 less than the number. If the result is 181, what is the number?

+ 002 -



4, The product of 3, 5, 7 is equal to one-half the sum of 20 and x. What is the

values of =7

5. By Saturday afternoon, 375 tickets had been sold for a Saturday evening
performance at a theater with a capacity of 500 seats. After those 375 tickes
were sold, half the members of a group of 210 people each purchased a ticket. If
no other tickets were sold prior to the performance, how many tickets remained

unsold at the time of the performance?

6. Prime numbers £ and n are each greater than 2, and they differ by 4. If there is

no prime number between & and n, what is the least possible value of £+ n?
B2 i
1. B

2. D
S HBEEBETYEG6G = +H1>=1 (HEHED, S E=0, 6; =15/,

3. 95
S 2+ (xr—9) = 181=>x =95

4, 190
HT - 20;1 =3¢5+7=105=20+x = 210=>x = 190
5. 20

ST ZERREE B HRE R N FRERMBRKCHE B BB ARAER
RRRS R B HAE RE B R ER H AV SC BRI E R R FRE . X B R T &
SRR E.

6. 18
S3a . “differ by” REELZ DR, HAKRPESBEZEBTIPANKER,
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Bl | k—n|=4,
& E+n ESN, N AT n MEESBERTEE/N, S LAENR/NIER. XY
=3/, n=7, FEXRBREES AFEBAR:;HBL=50,n=9, FREE:
k=THK,n=11, 2R¥ . BHPEEBEINNRE . &+ n NHR/NEA 18,
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A (odd) : “TREW 2 BEENEH,
B2 (even) : BEW 2 BBRMEH,

IBEE. odd + odd=even odd X odd=o0dd
odd + even=o0dd odd X even=even
even = even=even even X even= even

Bil: 1 @ and b are positive odd integers, which of the following must be a
positive odd integer?
(A)a—+b (BYa—b (O 2a-+b (D) 2a—1b

a+b
2

S BB CEZHR ABE, REZEZC.DNERE LT E
BERTHREANELERAMMAE CRERIELERAE., NEFFITE, ¥a = b B,
a—b=0, MBEMNAE 0 hEIBH.

(E)

f5. If 2, y, z are integers, which of the following is NOT a possible value for
22+ 4y 627 _

(A4 (B) 8 (G 12 (D) 26

(E) 29

S BSFBEOEERITMN. LR o, v,  REREFTMHSEME. SNFAEER
MR —EEZBE MBHEESBHANORBH. . SERE ENERTE&E.

23

1. The sum of which of the following combinations of number will be odd?
(A) One even and two odd numbers (B) Two even numbers
(C) Three even numbers (D) Three odd numbers
(E) Four odd numbers
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2. If xand vy are integers and xy 4 2% is odd. which of the following statements

must be true?

I. xis odd.

I yis odd.

1. x+ yis odd.

(A) T only (B) I1I only

(C) Iand II only (D) land 11T only

(E) ITand 111 only

3. If r is an even integer, how many even integers are there between -+ 3 and x +
13, inclusive?

1,2,3,4,5,6,7

4. How many pairs of different numbers can be chosen from the list above so that the

sum of the two numbers is even? (Note: The pair 1, 3 is the same as the pair 3, 1)

2L

1. D

2. D
S 2y +a2° =2 (y+x), FESFHAERNL D ESH, HE£E D,

3.5
S “inclusive” LA E R Z“BE 2+ 3, x+13”, BT eventeven=even,
HWOERK W 313 2 aRE% 4. 6, 8, 10, 12 F0 x ABMFIT,

4. 9
447 . odd+odd=even, even+ even=even, M 1 FEEHER , FABEHETE

3
4 5
145, 2{ , 3{ ., 4{6, 5{7
6 7
7

HHF 9 ¥,
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L H (dividend) < & ¥ ( divisor) = # ( quotient) + 2% #{ ( remainder) = & #
(divisor)

Bl F (factor) {5 (multiple) : RU B n B m , ERELT R ENEL, B
ABARR m gERn WA F ,n 2 m BIE L

EH(prime): — M EBYRBFLIMEF,1HNELSG,

F0% (composite) : — MEEEDE 3N ARMEF.

% B F 47 #& (prime factorization) : 3£ — N5 B AR HAR R,

Il : Trains A, B and C passed through a station at different speeds.. Train A’s
speed was 3 times Train B’s speed, and Train C’s speed was twice Train A’s. What
was Train C’s speed, in miles per hour, if Train B’s speed was 7 miles per hour?

(A 11 (B) 21 (C) 28 (D) 35

(E) 42

S BB E 2 NRTEROELBE, “n times A”RIR A 1 n &5 twice
A"RITNAM2E. HERANREEZBHNIGEANRER 2LCHARER AN
2, CRRER 412,1% E,

5. When the positive integer k is divided by 7, the remainder is 6, What is the
remainder when k42 is divided by 77

(A0 (B 1 2 (D) 3

(E) 1

SHF . X—XBHREAR SAT EHPHNELE. EREENHEZREZE
BHEEHNEERARNT., ABFITERE =13 RAITE.ERA 1, 80EHF B,

8. If a. b and ¢ are different positive integers such that « is divisible by 4, and
b is divisible by ¢, which of the following statements must be true?

I. a is divisible by c.

I1. a has at least 3 positive factors.

I a = bc.
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(A Tonly (B) 11 only

(C) Iand I1 only (D) Iand III only

(E) I, Iland 111

43#7: “A be divisible by B”&R/x A I # B #Bk, iR a = kb, b= lc=>a =
kles ko [ REELBOERE C,

f) . In a certain high school, there are three times as many band members as
orchestra members and twice as many orchestra members as jazz choir members. If
no student can be enrolled in more than one of the three activities and there are 108
members in the three activities, how many students are in the band?

SHr: “ntimesas... as" R"RREBZ M asBIEEMN nfZ, BIFX— A%, band
members & orchestra members f 3 1% . orchestra members 2 jazz choir members {9
2 /%, FilA band members & jazz choir members § 6 1% . 6jazz-+2jazz+jazz=108,
jazz=12, band=72,

5. The positive number n is the product of three different prime numbers
greater than 2. If the sum of these three prime numbers is also prime, what is the
smallest possible value of n?

I BAE 0 BN BLAMBTH 3 N EBHERTREN/N. BIOMKT2H
BNREIER,3, 5, Il RENEHMAMARE BERFBEX —FKHNREX T
B9, 8 n BR/ME 165,

5. Yesterday, John pained boxes at an average rate of 10 minutes per box.
Ann painted boxes at an average rate of 15 minutes per box. If they both painted
boxes at these respective rates for an hour, what is the total number of boxed they
painted?

S X—%XBE R SAT HEBH TN —XFLBAE—RREA, RIEBH
8] X 3E K =F 8, John A1 Ann — /NS HIEEM 6 F1 4 DE T H—/NHBASG
AERBEM 10 MET.

ZroJid

1. When the positive integer s is divided by 12, the remainder is 4. When the
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positive integer ¢ is divided by 12, the remainder is 5. What is the remainder
when the product sz is divided by 62

(A1 B 2 3 (D) 4

(E) 5

. A survey of households in a small city showed that there was an average of 3. 2
persons per household and an average of 2. 5 radios per household. Based on
these results, if 48 000 people live in the city, which of the following is the best
estimate of the total number of radios in the households of this city?

(A) 18520 (B) 26 300 (C) 35200 (D) 37500
(E) 61 440

Machine A produces chairs at a constant rate of 6 chairs per hour, and machine B
produce chairs at a constant rate of 8 chairs per hour. How many more minutes

does it take machine A to produce 32 chairs than it takes machine B?

. For three positive prime numbers a, & and ¢, ab = 33 and bc = 21. What is the

value of abc?
How many positive integers less than 1 000 are not divisible by 37

A school ordered $600 worth of light bulbs. Some of the light bulbs cost $1
each and the others cost $2 each. If twice as many $1 bulbs as $2 were

ordered, how many light bulbs were ordered altogether?

A car traveled 10 miles at an average speed of 20 miles per hour and then traveled
the next 10 miles at an average speed of 40 miles per hour. What was the average

speed, in miles per hour, of the car for the 20 miles?

!
T
a

8. On the number line above, tick marks are spaced so that the distance from a to &

+ 009 -



